(M5 FERA] HLEHE (B28) HEBE-KPI —EBxX a8 2
(875> 1 ~LZLDRIE~] HAE(H30)| RO23%EHE | RO3EHE | RO4ERE | ROBRRA | HEEE | ERX
#HEBE RS (FR) 5] 269.7 274.9 303.0 291.8 291.8 282.1 ]103.4%
| -()|@OFELES (H27~REH) [#] 3 5 6 6 6 6 |100.0%
| -Q)|O2%EERE (£/H) [1&m] 74 92 90 92 92 100 | 92.0%
OARENA A~ ZREHERE (/) [t] 122 243 1,760 2,207 2,300 4,970 | 46.3%
|-G @ABENA F < RKIEER (ER) [t] 52 10,592 11,924 13,045 14,000 13,000 |107.7%
OMEREE (7)) [ha] 46.1 73.3 75.0 64.5 54.0 61.3 | 88.1%
KpI O=E{L K REIRE (FR) [tc02] 1,922 2,239 4,250 4,464 5,100 8,661 | 58.9%
| -4)| @B =+ BIHFEANIIEEI (H2T~R5H) [632] 6 9 9 12 12 12 ]100.0%
QETRAHEEID L E DILE [%] 54.8 76.8 81.4 92.0 95.7 90.0 |106.3%
| -(6)|DEDRAAEL (/) [5A] 76.0 67.8 73.9 84.2 90.0 100.0 | 90.0%
@55 - INFEEIRFEE (/) ()| 234 102 126 124 136 350 | 38.9%
| -(6)|@AIZEHE (H27~REH) (1] 17 24 29 37 39 82 | 47.6%
Q#F REMAILE (H27~RED) [A] 52 64 85 107 110 100 |110.0%
(#7511 ~BhoglE~] EAMB(H30)| RO2E#E | RO3EME | RO4E# | ROSRRA || #ERE | Ekz
HEEE |EAER R2~RE) x=ppws [A] 3,251 624 1,329 2,167 2,909 4,150 | 70.1%
I1-(1)| Q& ANsEREE (R2~FEH [A] A 897 A 85 A6 79 157 650 | 24.2%
OREDICH I 2H-REAEEOERE (R2~R5H [F] - 0 44 44 44 150 | 29.3%
1-Q|@#H L WHERKER (R2~REH) (] - 0 0 173 178 225 | 79.1%
@RV —F v ELIMEBEER (TH) [A] 791 820 838 847 857 1,000 | 85.7%
Ok LES LAAER (£/) [A] 68 ik 6 34 45 100 | 45.0%
KPI | 11-Q)|@%7-» LES LAIAEHERR GEN) (ERH) (8] 868 FiE 47 423 600 1,000 | 60.0%
B b B EFRRBEN o-7 REGSE R~RED  [#] - 0 0 0 1 5| 20.0%
) @33 2=F7 4 NAFBAEL (ER) [5A] 14.7 10.4 12.8 13.8 14.5 15.0 | 96.7%
@B R LR ZFAER (E/) [5A] - 1.4 1.3 1.4 1.5 1.0 ]150.0%
1-5) OBEHIAEH (FR) [5A] 117.4 101.3 103.7 162.5 180.0 150.0 ]120.0%
Q@EEBA RV FEBEHK (FH) [H5A] 1.4 Ak ik 1.6 1.7 2.0 ] 85.0%
(7SI ~DEDBIE~] EA(B(H30)| RO2E#E | RO3EME | RO4E# | ROSRRA || #ERE | EkE
MEEE |HEHR (FR) X=ppus [A] 55 48 54 58 51 90 | 56.7%
- O2EFY - FERRAR D] B T ER | —ERER | —ERER [2ETeny]| —
QzEES - BH#EEH. EBHBESEHE [FENTER]|—FHEUT ik —BRERL | —EBIERL ER |eEwsut]| —
KPI -2 OHER (FR) xepaos [A] 55 48 54 58 51 90 | 56.7%
@77 IU—%R— L 2—EFLEH (RED) [A] 363 328 333 320 310 420 | 73.8%
N-GNO by 772U — FBERAKR (RF) [A) - 6 6 6 11 25 | 44.0%
(75 VIV ~EHO8IE~] EA(B(H30)| RO2E#ME | RO3EME | RO4E#E | ROSRRA || #ERE | EkE
BiERE [EHER (R~R3D)  xappos [A] 4,148 709 1,405 2,088 2,752 3,500 | —
@B EpEEH=R [%] 88.0 88.4 88.4 88.4 90.7 100.0 | 90.7%
IV-(1)| O EEEREETE (X—1 - 77U) OBFHES (R [#) 600 635 642 4,801 5,000 5,000 |100.0%
GRS BT 2 H1EHE (/) (] 279 908 336 138 120 | 2004 TF|166.7%
OrTEREXEDERE (Rih) [»77) 1 1 1 1 2 1100.0%
KPI | IV-Q)|@EZEEN#EETEISE (R2~REH) €%0! - 0 1] 0.0%
OABRBRDORE &Y 5 BN EEHRE (R2~RED) €%} - 0 1| 0.0%
-3 OHRERRT VT 1 TERBERTEER (RFH [A] 79 122 161 184 201 230 | 87.4%
QEHL WEOBUEEFRRFER EN) (ERH) [A] 35 25 51 64 68 60 113.3%
IV-(4)|DItBEERAFE ORTREEEHK (FR) [A] 916 936 923 883 855 1,000 | 85.5%
(875 V ~FYRIVEERH [Tobetsu“DIGI"town| DElE~] EAEE(RS) | RO2:E#E | RO3%E#E | RO4EHE | ROSRR | HEBE | ERE
HEEE |AQICXT 27 A F >N —h— R (%] | ®arz30 49.7 - - 60.9 71.1 80.0 | 88.9%
kP V- OB 7B (RED) (€275 12 - - 12 20 30 | 66.7%
@arve=xflcz 2iaAEE0EE (D) U] 0 - - 0 2 41 50.0%
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